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First Term Examm fon . 2024-25
class X

Paper : mathematicg

Time : 3 hrs.
) M.M. : 80
General Instructions :
1) The question paper has five sections A, B.C,D,E.
2) Section-A has 20 MCQs carrying 1 mark each.
3) Section-B has 5 questions carrying 2 marks each.
tion-C has 6 questions carrying 3 marks each and Section D has 5 marks each.

4) Sec
(Section-A)
1. An example of a whole number is
a) 0 b) -1 o)1 d) -7
2 5
1
2. 32_5_ is equal to
a) 4 b) 8 B2 d) 16
3. The degree of the polynomial 5x%- 6x -2 is
a) 2 b) 1 c)0 d) not defined
4 Find the value of polynomial in y?> -5y + 6 aty =0
a) 1 b) 6 c)-5 d) -6
5. Factors of 3x% - x - 4 are
a) (x-1)(3x-4) b) (x +1) 3x-4) O (x+1NE+4) d)(x-1) (3x+4)
6. Zero of the polynomial P(x) where p(x)=ax+ 1wherea=0is
a) 1 b) -a c)0 a1
H.a The point (0, 5) lies on \ a
a) on x-axis b) on y-axis c) In Il quadrant ~ d) IN IV quadrant
8 Express 5x = -8y in the form ofax+by+c=0 M.
a) 5x-8y+0=0 b)5x+8y +0=0 c)8x-5y+0=0
d 8x+5y+0=0
9.  LetY varies directly as x if y = 24 when X = 8 then the linear equation is
a) 3y=x b)y = x C) Y = 4x d) y = 3x

10. How many common points do two distinct lines have

(a) 1 (b) 2 (cha d (0)
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To solve the equation a-20=15we ysé i (D) Fourth . & &
" First (b) Second (' il 3 &
() e . ective s
12 Infigifx:y= 1 - 4 then value of x and yare esp v
. ) .
= y/x 3
78,18
(a) 36,144 (b) 18,72 (c) 144,36 (d)

13 If the difference between two complementary angle is 10° then the angles are

(a) 50°,60° (b) 50°, 40° (c) 80°, 10° (d) 35°, 45°
14 If two sides and the included angle of one triangle are equal to two sides and the included

angle of another triangles must be congruent by the rule.

(a) SAS : (b) ASA (c) AAS (d) All of the above

15,  In AABC ZA = ZC and BC = 4cm and AC = 3cm the length of the side AB is
(a) 2cm (b) 4cm (c) 3cm (d) 2.5cm

16.  Inlsosceles APBR, PS is an altitude and PQ = PR then PS bisects
() QR (b) PR (c) PQ (d) RS

17, Inagrouped frequency data class intervals. are 0-20, 20-40, 40-60 then the class width is
(2) 10 (b) 30 (c) 20 (d) 15

18.  Foragiven data the difference between the maximum and minimum observation is known

asits

(a) Class - (b) Range (c) Class mark (d) class limit

Direction: In the following question (18.20) a statement of assertion (A) is followed by a

statement of i : _
feason (R) is given. Chopse the correct answer out of the following choices.

a) Bofha (A)and reason (R) are trye and reason (R) is correct explanation of assertion
(A)

b) Both assertion (A) and reason (R) are true but reason (R) is not correct explanation of
r
Assertion (A)
c) Assertion (A) is true but reagop (R) is false-

(d) Assertion (A) is false but reasop (R) is true-
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10 Assertion (A) © The Value of (102)
Reason (R) : (x + y)? = x* + yl’ +3xy (X g Y)

20 Ans ¢
( wortion (A) © The sides opposite to @4Ual angles of a triangle are not equal

Reanon (R) Angle opposite to G(IUﬂl sldes of triangle are equal. 1x20=20
Section-B
I 21 H:lliu;mllrm the denominator of |
/ V542

[ ——

A
22. Fvaluate 32\
243)

23, Which one of the following option is true and why?
y = 3x+ 5 has
a) a unique soluti ' i
(a) lique solution (b) only two solution (c) Infinitely many solutions

24, In the given fig. if x + y = w + z then prove that AOB is a line

25 Below are the marks obtained by 30 student of a class in maths test out of 100

Class interval Frequency
30-40 3
40-50
50-60

8
8
60-70 4
70-80 2
80-90 2
90-100 1

Total
Draw a histogram to represent th

30

o data. (5x2=10)
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Find the Value of a and by if V3-i =a+bﬁ

26.

V3+1
27.  Factorise 27y° + 12573 ; its coordinates ? What
28.  Apoint lies on positive direction of x-axi;}\mm e y-axis DS o e ‘

will be the coordinates if it lies on negative diréc

from the x-axis.

tion of the y-axis at distance of 7-units

OR 33

Which of the following points lies on the y-axis and x-axis ?

4 A, 1), B(1,0), C(0,1), D(0, 0), E(0, -1) F ((-1, 0) G(0, 5), H(-7, 0) and 1(3,3)

29.  Write four solutions for the equation 2 x +y =7

307 Inthe given figure POQ in a line. Ray OR is perpendicular to line PQ a line. OS is another

ray lying between ray OP and OR.

Prove that £ROS = ! (£Q0S - 2POS)
2
R

<} | S
< 4

P 0 Q

3% InrtZd AABC right angled at ¢, M is the mid point of hypotenuse AB. C is joined to M and
produced to a point D such that DM = CM, Point D is joined to point B show that '

(i) AAMC = ABMD (ii) «.DBC is a right angle. (iii) ADBC = A ACB

(vem=1 A D A
2
)
B R &
e A
Section D

32.i) Represent\'5 on the number line,

i) Express 0.6 in the form f_where P, q are jntegers and 97 0.
' q

33, Factorise 2y + y2 =2y - 1

6x3=18
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) If 2x + 3y = 12 and xy = 6 then find the value of 4x* + 9y>.
d) Find the valve of 4x? «9y?if 2x + 3y = 12 and xy = 6

384 Short distance travelling was transformed by the advent of the:r_'scooters. Users who are
always on the lookout for cheaper travel options really appreciated the initiative, for no
one really likes to pay hafty amounts for minuscule ride.

So, electric scooters are becoming an increasingly important part of our transport method.
The electric scooter market is projected to register a compound annual growth rate. The

revenue in the E-scooter sharing segment is given below :

Yy 4
a4 ] - 219
P £ 1814 | |
21 i
o BT :
© 14.2
Cé 15 T —
o
% 12T 10.90
£ o + 62 876 [
6 T
3e .
0 » X
2019 2020 2021 2022 2023 2024
Now Answer the following questions. Year e

(a) What amount of revenue is projected in 20247.
(b) What is the % age increase of growth is there in 2023 than 2022 ?
(c) Is the revenue growth increasing or decreasing from 2019 onwards ?
(d) State the reason behind the growing use of electric scooters by the general public.
39~ Prime Minister's National Relief Fund is the fund raised to provide support far people
affected by natural and man made disaster. Natural disasters that are covered under this

include flood, cyclone earthquake °t°-‘ra{1 made disasters that are included are major
accidents acid attacks, riots etc.

Two friends Sohan and Mohan, together contributed Z 300 towards Prime Minister Relief.
Fund.

(a) How you represent the above situation in linear equations in two variables?

(b) If Sohan contributed ¥ 80 then how much Was contributed by Mohan?

(c) If both contributed equally then how much is contributed by each?

‘ ; uation x = .
(d) What is the standard form of linear eq 5? 3x4=12
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team A and B on the i irst 60 balls in a C"CkE‘ na‘[ch -

8
1

eams on the same graph by frequency polygons.
"and «/PRD = 127°find x and y.

of an equilateral triangle ABC are 60° each.
(Section E)

very harmful for o eyes if they are used for a longer period of time

7en spend long hotirs on phone in their free time and as a result their
come wezk. To generate awareness about the ill effect of "using mobile phone
" 2 group of (2x+ 3y) teachers xy’ boys and (8x2+ 27y giris in a school

S e campaign on the same.
on the above information apswer the following questions :

w2imne

i atical concept used Ner®
the group, then how many girls are there

the no.

cfteacheris 12and ng_ gf boys 'S 6in
" the group.
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